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Example Problem 7.1

Given:  The following members are being considered for use as a concentrically
loaded column. The column has effective lengths, KL, of 15 ft in one
direction and 6 1t in the orthogonal direction. The load consists of 1 part Dead .
Load, 1.5 parts Live Load and 2 parts Snow Load.

a) W10x19
b) Rectangular HSS 10x4x1/2
¢) Round HSS 7.5x0.500

Wanted: Determine the capacity of each section for each condition. Consider both
ASD and LRFD, expressing the results in comparable terms.
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